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Economics - XI
History of Economic Thought
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Please check whether you have got the right question paper.
N.B 1. All questions are compulsory.
2. Use blue and black pen only.
3. Use pencil for diagrams.
4. Use of signs, attracting attentions is prohibited.
?) Td 9T TISfAur aeTsH 3Te.
ard @ar 30T HiedT Uodard aTaX hirdr.
3) JMThcITHTST UfeHerdT aTaR HTdT.
¥) IUTIE! T&Tdteh d Hichicleh GOT FUATH Fidaer 37e.
Q.1  A) Fill in the blanks (attempt all) 05
1) The famous book written by Adam Smith entitled ‘Wealth of Nation’s was published in the
year
2) The concept of multiplier principle was first propounded by
3) Theory of was propounded by Thomes Malthas.
4) Ricardo According to is a thing.
5) Keynes write book entitled was published in the year 1936.
NRFFIT SR W (T AR
) Teerdt " g7 9fig I FSATHY Tieir a1 auft forgre.
R) AUThcIcd &1 Heholell __ Flell JUH HISe.
3) WH‘I‘W . fagia A
¥) Repsfedr #G__ &1 Ush a&q 3e.
9) T UY Fedd 38 ALY YHMAT dell.
B) Answer in a sentence (attempt all) 05
1) Who has propounded the first concept of consumer’s surplus?
2) Which has written book by keynes in 1936?
3) State the definition of physiocracy?
4) What is mean by Transation motive?
5) What is mean by cannon of Equality?
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) TeT I 3cck TolgT (@9 Afar)

2)ITRFATT TAVTAFT & HhoTedT T TUH HIUT HASAT?
Q) Fedel ¢R3& HEY HIUTAT I g
) faastarer arear @,
)
)

L oY)

¥) SIAER gcf FgUTSl I ?
$) FHAAY dcd FgUTSH HII?

Q.2  A) Explain concept/ term/ unit/ event (any two) 10
(word limitation minimum 60 for each answer)

1) Ricardo’s thought on Distribution

2) The Net product
3) Adam Smith’s Liberalism
4) Marginal Efficiency of capital

31) ThoUall / TAT / Tedh TASC T, (FIOTIET &)
(TAF 3caIE fHATT sg AATET €0 UAsT)
?) R fasmea fdwgs Tar
?) [Acaa 3cdres
3) FSARAYAT IgRATAIG
¥) ATl AT ATHETHAAT

10

B) Attempt in short (any two-word limit 60)
1) Explain the keyne’s theory of employment .
2) Explain the Internal and external Economics.
3) State the consumer’s surplus of Marshall.
4) Evaluate the Mercantalism thougth.

) MsFATT 3ccR [oIgT (PIUTAET led) (Tsg FAET €0 2Meq)
?) Pl VSR AvTe Agid TASC .
Q) 3ided g dET SIdl TISE .
3) AT, 3UHFIT AWy fAwy AR &,
¥) SUYREME! AR HeddATdel .
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Q.3 Answer in detail (any one) 20
(word limitation minimum 200 for each answer)
a) What is mean by the circulation of wealth? Critically examine the circulation of wealth.

b) Explain the Malthusian theory of population.

37) AT 3caX fAgT (0T Uah)

(IS AT FATA s FATET 00 AsT)
3NHIATS TATelT FgUTSl A? Ul HAeld feahlcHs TRETOT &l
§) ATCUTAT AhaEdT favas Bgia TIse .

OR
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Economics - XI
Mathematical Economics
[Time: 1:30 Hours] [Max.Marks:50]
Please check whether you have got the right question paper.
N.B 1. All questions are compulsory.
2. Use blue and black pen only.
3. Use pencil for diagrams.
4. Use of signs, attracting attentions is prohibited.
5. Use of simple calculator is permitted.
?) TG 92T TISfAUr ETH 3Te.
Q) Had TH®dT HIOT FieedT YT araX Hral.
3) 3'1|5|éc€|‘|¥||£| Qfcgeldr gray ahdr.
¥) PIOTIE! T&TIUSF T Hichicleh GOT HIUATH Tlcaes 38,
Q.1  A)Fill in the blanks (attempt all) 05
1. According to Marshall. The marginal utility of money remains
2. The derivative of constant function is
3 Marginal utility of commodity of Q1
" Marginal utility of commodity of Q2
4. 1If the number of rows of R matrix is equal to number of it’s column then that Matrix is
called
5. R = 24x? — 4x + 5 is the revenue function then the marginal revenue function is
NN SR . (T ATAar)
¢) AT AT AG Y AT 3gAear 39,
?) R werrar faseA 3.
3) QLI AT SYA AT
QIEgRHATA TN
8) SO RUNALY 3N T I8 AT F&AT AT 3HA. AT ROMH Fg0Ter
Q) R = 24x? —4x +5 § UICAl Belel 3T RAHATTT 9cdl weld B
B) Answer in a sentence (attempt all) 05
1. State the equation of straight line.
2. What is mean by dependent variables
3. What is meant by column matrix?
4. What is meant by price discrimination.
5. In which year Prof Edgeworth developed the “Indifference Curve Approval™?
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&) TRl AT 3ok folgl (A9 Afrary)
?) a5 T FF A
Q) AT T FgUTS FHI?
3) TIH IROlT FoUTS FHI?
¥) IEHE FEUTS FIA?
) Y. Tofad Alel IOl I FHIcH deh fARelvor fashfid shel?

Q.2  A) Explain concept/ term/ unit/ event (any two) 10
1. Monopoly
2. Marginal Rate of Substitution.
3. If MR is Rs. 30 and the elasticity of demand is 8 find AR.
4. Giventhat Q = 4 L3 K? — 3 L3K3 find MP, and MPy

37) HheUell /| AT / ch TISC I, (PIUTART Gled)
?) HFAGRT
AT iU eX.
3) SR {ATT uredr 30 . 30T AR daferdr ¢ 3@ aT T ITedr 2.
¥) 3cUlgel Bold Q = 4 L3 K? — 3 [3K3 feelel 3 AdT HHpr T Hisgardr R{daed
3cUTGehdT QYT.(MP,3TTOTMPy)

B) Attempt in short (any two) 10
1. State the types of Matrix.
2. Explain the concept of budge line.
3. If A(14, —3)and B(6,—9). Find the distance between A and B points.
4. Find the elasticity of demand, for the demand function P = —2¢? + 18 atq = 1.

) UISFATd 3cal TelgT (hIuTagr glel)
?) RO YehX A,
Q) FcUeel IT HheUal TISC I,
3) S A(14,-3)3TOT B(6,—9) 38l . o A 30T B fgatier 3T Mmem.
¥) ARTON Geled P = —2¢% + 183K q = 1 3T AT Tafdehdr 2Mme.

Q.3 Answer in details (any one) 20
1. Given the utility function U = xy and Budget constraint 10x + 10y = 100 find out the
optimum quantities of x and y commodities for maximum satisfaction.
2. Solve the following problem.
a. Given the total cost function C = 50 — 2Q + 7Q?% + Q3, find the Marginal Cost and
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Average cost when Q = 5
b. Find the Inverse of the matrix.
1 2 3
A=|-5 -7 —4]
2 1 3
IR 3caX foIgr. (FITAgT Tah)
?) 3UMTET Boled U = xy 30T ereTaaenrd HITGT 10x + 10y = 100 feeler 37e.
X AGcdH FATUATHIST x MOy TEIAT Jerdcda HIFT e,
Q) Tl WA &S
H) € =50-2Q+7Q%+ Q> § TRVl WY Belel g Q =5 Teelel AL AT
T g WA T QAT
) @rellel ARONET eIed FRUIT ATer
1 2 3
A=|-5 -7 —4]
2 1 3
OR
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FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V) Examination OCT/NOV 2019
Economics - XI
Labour Economics
[Time: 1:30 Hours] [Max.Marks:50]

Please check whether you have got the right question paper.
N.B 1. All questions are compulsory.

2. Use blue and black pen only.

3. Use pencil for diagrams.

4. Use of any signs, attracting attentions is prohibited.

?) T 9T TISfAUr EaeTeH 3Te.

) Berd ToldT HIfOT STl UsTdTd arax hrd,
)
)

3) JMThcITHTST UfeHerdT aTaR HTdT.
Y Wamww%raudl HIOITE Ay 38,

Q.1  A) Fill in the blanks (attempt all) 05
1) Minimum wage Act was passed in the year
2) “The Theory of Wages” book written by prof. Hicks in the Year
3) Inthe year 1958 Board was established in India.
4) Employment exchange act passed by Government of India in the year
5) Labour review committee established by Govt. of India in the year

3NREFIT SR . (T 3HfAar)
?)fehATeT acel HRIET gl o] UATd 3Tl
Q) Ur.feww I “adarar RBgia’ @ aU el fograr.
3) AR $R4¢ HEY HSS TUTTT hel.
¥) R TR AR AT hrer HEY 91F ohel.
3) 9Rd TIPR HH FHATATTT FiAATT TUTIAT HTell el

B) Answer in one sentence each (attempt all) 05
1) 1In 1948 which committee has been appointed by central labour advisory Board.
2) Who has propounded living wage Theory.
3) In which year the Industrial dispute act was implemented.
4) Write the period of Twelve Five Year plan.
5) ‘Which is the primary objective of the Firm.
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) TN AT 3ccik Tolgl (Fa Afar)

?) R8¢ HEY HoT HAFCANIN HSB HIUT HA IF hell.

R) HorT Siiae foidie [gia ol Aiser.
3eAfEIes faarg Srer HIoTedr aul AT 3Te.
IRTSAT YIaT¥es Aolaar sra@s folgT.

3T HEAY YA 3fESe HIUT?

L oY)

¥

)
)
)
3)
A) Explain concept/ term/ unit/ event (any two)

1) Fair wages

2) Labour in Unorganized sector

3) Unemployment

4) Collective bargaining

37) "ehoUdT /| AT / UcHh FIST I, (FIUTe! Gled)
R)TTT AU

Q) IHUET &S AfAS

) ShRY

¥) TR HieT AFT

W

B) Attempt in short (any two)
1) Write the determine factors of supply of labour
2) Explain the relationship between wage and inflation.
3) Write the function of labour Union
4) Write the causes of Urban Unemployment

) AEFATd 3o foIgT (FIUTART &)
?)HHATAT RIST SRIAUIR Teh forgT.
Q) adel 30T HIgdTe AT HaIY TISC .
3) He FaTdr F folgr.
¥) Y RN SR fergr.
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Q.3 Answer in details (any one) 20

1) What is meant by unemployment? Write the causes and measures to reduce it.

2) Explain the nature and characteristics of India labour market.

AT’ 3caX o8l (FIoTder Teh)
?) SShRY FEUTS hII? dhRIdl HROT 0T 391 folgr.
Q) HRAT A IR F&T g AT FIsT .
9
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